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g A 4,311,000 4,414,000 103,000 g A 4,311,000 4,414,000 103,000
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SAAYI | 2E5E 900 900 -
oINS SR AN ERT 938,210 1,011,970 73,760
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HH[ALY 240,264 221,221 ~19,043
oga 193,276 130,515 A62,761 HoIMUFAY 359,703 465,000 105,297
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311 BMEXF 668,196 694,924 26,728
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11 A= 51,600 141,354 89,754
111 Gzt 4= 51,600 141,354 89,754
070 &3 20,043 16,085 A3,958
710 E & 18,986 16,035 A2,951
711 MsRdolga 18,955 16,000 A2,955
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38,550 49,370 10,820
312 @ H| 27,807 33,958 6,151
3118 A H 18,000 13,200 24,800
312 87| 24| 2,400 4,800 2,400
3139 2 H| 2,600 10,600 8,000
314 S ZAH| 4,800 5,350 550
117 7|Ef= 4| 6,630 8,000 1,370
33 A & 10,750 15,420 4,670
331 07t E AL | 5,900 10,920 5,020
332 HI| 3] 4,500 4,500 -
333 ZAIETFEEAY 350 - A350
B1 RS 0AY 129,488 132,312 2,824
129,488 132,312 2,824
119 A H 129,488 132,312 2,824
111 2 o 116,808 119,144 2,336
112 H = ¢ 6,415 7,860 1,445
115 EXSUEXHES 10,269 10,584 315
116 Afg|2¥ ez 12,680 13,168 488
ngEF 4,840 5,040 200
121 7| 22| 1,200 1,200 -
122 2| 9 H 3,640 3,840 200
132 ¥ o 26,980 49,845 22,865
131 OfH| 150 300 150
132 #=8H|AF+E 2,320 3,715 1,395
133 33aaXHAMsa 8,860 8,980 120
135 At 2 H| 9,000 30,200 21,200
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